SARaA—IL#F

SH5E12A248(H)
E 1z K 4 7ok 14 > —#4JL | HDCP Tk RAVb
B B REF  Ed 45 43 88 25.0 63.0 400
EEB AR RX 40 43 83 15.0 68.0 300
<]iva B B 44 42 86 15.0 71.0 200
Afs1 il EE 44 41 85 12.0 73.0 100
541 =H KA 42 42 84 11.0 73.0 100
64z BEH {£i# 39 43 82 9.0 73.0
741 & ®Z 47 46 93 20.0 73.0 90
841 BlR EEE 45 49 94 21.0 73.0
ofiz BRA EH 41 38 79 4.0 75.0
104% M EBXER 42 41 83 8.0 75.0 75
114 TR A 44 42 86 11.0 75.0
1241 ik HEA 40 44 84 9.0 75.0
134z BA XX 48 39 87 11.0 76.0
144 XA {2 48 42 90 14.0 76.0
154 AXH EE 40 43 83 7.0 76.0
164 B &5h 44 45 89 12.0 77.0
1741 BH &= 44 43 87 9.0 78.0
181 B - 46 47 93 15.0 78.0
1941 o FIsE 46 48 94 16.0 78.0
20131 = ER 53 50 103 25.0 78.0 60
2141 R EF 49 50 99 21.0 78.0
2241 XfgE EE 55 53 108 30.0 78.0
23131 FR HB—HR 49 40 89 10.0 79.0
24431 ZE2 EN 42 44 86 7.0 79.0
2541 AR BAF 48 45 93 14.0 79.0
2613 BA B— 39 47 86 7.0 79.0
2741 il e 48 48 96 17.0 79.0
28131 BAR Et 44 48 92 13.0 79.0
291 Fall 281 43 42 85 5.0 80.0
301 ZE #N 48 51 99 19.0 80.0 60
3141 R K 50 53 103 23.0 80.0
3241 =H A1l 48 43 91 10.0 81.0
33 FA B 47 43 90 9.0 81.0
3443 A 61T 49 44 93 12.0 81.0
35 AR Es# 43 46 89 8.0 81.0




SARaA—IL#F

SHI5E128248(H)

& £z K £ Tk 14 v k—4JL | HDCP SIS KAk
361 BA B 45 51 96 15.0 81.0

3741 EE f#— 54 54 108 27.0 81.0

381 F OEX 48 46 94 10.0 84.0

39{x pic == 49 50 99 15.0 84.0

401 Bl REA 52 50 102 16.0 86.0 60
4141 B ER 54 52 106 20.0 86.0

4241 R A 45 55 100 12.0 88.0

BBE EH —RE 53 50 103 13.0 90.0 90
44431 il TE 58 54 112 21.0 91.0

N R ZR FH

N R FAIER  #3h




